H & 0l & AHS B Ml A

FA FEEAILL
Bz 214 o 2o
CH: ZSD3 U AIROHY (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
A AL 215,227,798 196,217,174 19,010,624
= 77,623,600
[ 34,373,300
Jl 536,552
CH 7,199,000
= 41,795,346
H 53,700,000
T A4 & 2E 82,687,000 56,350,000 26,337,000
CH 7,199,000
== 25,488,000
H 50,000,000
FEiEE & AlEHE 82,687,000 56,350,000 26,337,000
CH 7,199,000
S 25,488,000
H 50,000,000
SEE TAICIEFANO AHE=A 71,250,000 51,050,000 20,200,000
== 21,250,000
H 50,000,000
308 AHXIHMSO0IA 50,000 50,000
13 SI[2S0He & EAS A 50,000 50,000
O '&<8 TARIESNH, HEME 88 50,000
401 AlZHIZ S0 200,000 1,000,000 A800,000
01 Al&H| 200,000 1,000,000 800,000
O "EHE ZARIESANH, =5AE B
8 M AE=E 200,000
502 X2 71,000,000 50,000,000 21,000,000
=S 21,000,000
H 50,000,000
01 El= 71,000,000 50,000,000 21,000,000
O 's4E ZAIESENH, MY EXts 71,000,000
[ 21,000,000
H 50,000,000
SHE sEcIESH 32 11,437,000 5,300,000 6,137,000
CH 7,199,000
< 4,238,000
403 MR HHMSAHE01H 11,437,000 5,300,000 6,137,000
CH 7,199,000
S 4,238,000
01 MXIHHA 222 11,437,000 5,300,000 6,137,000
Osg8 sECESFAH 32 11,437,000
CH 7,199,000
= 4,238,000
FHeEE e 85,946,576 72,853,981 13,092,595




2A:

X XH -
o=

=TI
=18 e

Rl FHEENe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 77,623,600
[ 979,000
= 7,343,976
FHEMNH 85,946,576 72,853,981 13,092,595
= 77,623,600
= 979,000
< 7,343,976
FHSN 83,319,4% 71,038,935 12,280,561
= 76,492,000
= 6.,827,4%
308 AtXIEMSOIE 83,319,4% 71,038,935 12,280,561
= 76,492,000
= 6.827,4%
01 XN EES 83,319,4% 71,038,935 12,280,561
OFHsN 83,319,4%
= 76,492,000
=S 6.827,4%
ZoHe!l =EOHE X2 286,520 286,520 0
= 220,400
< 66,120
403 MR HSAE01H 286,520 286,520 0
= 220,400
= 66,120
01 AXISHA=2E2 X 286,520 286,520 0
Ol =SIHE X2 286,520
= 220,400
= 66,120
nET FEOHE XA 174,300 174,300
403 X SHHMSAH=01H 174,300 174,300
01 AXISHHA 22 £ 174,300 174,300
Ot F=8Hx X2 174,300
Aol HR01 X 25,500 42,500 A17,000
402 2IZtA=01d 25,500 42,500 217,000
01 QI XHE AL E R (KM TH) 25,500 42,500 A17,000
OAtgel 201 X1 25,500
FAHAFSAHES F=HE XA 245,000 210,000 35,000
= 175,000
= 70,000
308 XtXIEMSO0IE 245,000 210,000 35,000
= 175,000
== 70,000
01 HRSHH B EES 245,000 210,000 35,000




2A:

X XH -
o=

=TI
=18 e

Rl FHEENe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OFHALAS F=AH4E XA 245,000
= 175,000
== 70,000
FHFAHS OIAEl XA 28,860 60,840 /31,980
= 22,200
= 6,660
301 EtE NS 28,860 60,840 31,980
= 22,200
= 6,660
01 AR 2EHSHS(RNEXRTHE) 28,860 60,840 231,980
OO0IAHHI XIE At 28,860
= 22,200
=S 6,660
JAESsEEEs 258 X 500,000 0 500,000
= 500,000
308 XXM SOIA 500,000 0 500,000
= 500,000
01 HASHHBSEXS 500,000 0 500,000
O&NZESsteEs 2588 A& 500,000
= 500,000
=AM FLAS =HeE e 50,000 50,000
403 AXIEtMSAH=01d 50,000 50,000
01 A= 2L 50,000 50,000
F FHAAHS FHEZ WS At 50,000
SEFAASFHINLAE 214,000 0 214,000
= 214,000
308 AHXIEMSOIE 214,000 0 214,000
= 214,000
01 XN B2 LS 214,000 0 214,000
OsEFHAASFTHMNEAE 214,000
= 214,000
FAXAME(ZAI) 1,102,900 990,886 112,014
= 979,000
S 123,900
403 AXIEHHSAH=0l 1,102,900 990,886 112,014
= 979,000
== 123,900
01 A= 2L 1,102,900 990,886 112,014
OMEDtE &3 HE(ME) 476,900
= 424,000
< 52,900
OME0IS &8 HA(0ll4t) 626,000




2A:

=TI

HE: FHEY K
Rl FHEENe (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 565,000
=S 71,000
SSFH 2el € K& 1,101,152 261,700 839,452
Jl 536,552
= 564,600
SSFH 2el € XNE 1,101,152 261,700 839,452
Il 536,552
= 564,600
=& 2 XY sy 80,000 0 80,000
301 EtE NS 80,000 80,000
14 JIEt2 83 80,000 80,000
OJgls 250HIE Alaa 80,000
SSTH 2E 33 2 65,000 10,000 55,000
201 eer23| 65,000 10,000 55,000
01 Al 22| 65,000 10,000 55,000
OBESFY Bl Y3 2 16,000
OREFY EXFAL 29 49,000
CSESUUFY AEHS 372,752 216,000 156,752
Jl 372,752
403 AXIEHMSA=01d 372,752 216,000 156,752
Il 372,752
01 AXISHHA =2 & 372,752 216,000 156,752
O=2s=8UF3AIZd 372,752
Jl 372,752
s ZZUNEY 2L AR (SN 2 AHES 163,800 0 163,800
)
Jl 163,800
403 AXIEHHSA=201H 163,800 0 163,800
7l 163,800
01 XXM =225 163,800 0 163,800
OL-=ZZANIF 2lRU AL (SN
2 NIHSE) 163,800
Il 163,800
SYEYE M4SHED| EX 44,600 35,700 8,900
403 MR HHMSAHE01H 44,600 36,700 8,900
01 MXIHHA 22 44,600 36,700 8,900
O=24=2Z NSHHEHDI &X 44,600
RHEI A=2E2 30,000 0 30,000
201 et 3| 30,000 30,000
01 At22t2l] 30,000 30,000
OLIRH2It IHE2 30,000
SSTH SSAE HEAG (EQF, OFAH, N4 245,000 0 245,000
403 X SHHMSAH=01H 245,000 0 245,000




FA FEEAILD
B 2sxe 2ol o N
el SSFE 2 2 NE (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 AXISHHA =22 & 245,000 0 245,000
OZ3=FE ZEAE NEAL (R CH OrAH A
&) 245,000
SSFE IRt X ISXS(Al) B2 L ZAl 100,000 0 100,000
ANAE 2= X2
403 AXIEHMSAH=201H 100,000 100,000
01 HXIHHA =22 xR 100,000 100,000
O&IIXt 32X 2 & JAIAMNAE 2=
L= 100,000
SAITHAY 36,452,830 54,686,400 19,233,570
[ 27,600,300
= 4,152,530
H 3,700,000
AT 33,892,830 52,501,400 18,608,570
= 27,600,300
[ 2,592,530
H 3,700,000
CANERARE =2g 10,800 12,000 21,200
201 Eer2 3| 10,800 12,000 21,200
01 At2t2lt] 10,800 12,000 1,200
OZAMYRARE 28 S 10,800
CAITHA AFE X2 161,670 203,000 241,330
306 E¢= 161,670 203,000 241,330
01 2d= 161,670 203,000 241,330
OZAIMAXZHEH 24 161,670
CAIHE A 30,971,160 49,526,400 18,555,240
[ 25,809,300
= 1,461,860
H 3,700,000
403 MR HHMSAHE01H 30,971,160 49,526,400 18,555,240
[ 25,809,300
= 1,461,860
H 3,700,000
01 A= 2L 30,971,160 49,526,400 18,555,240
O AITHAEAFS 30,971,160
= 25,809,300
< 1,461,860
H 3,700,000
LelSUAeDH(ARRZFN) 2,149,200 2,760,000 610,800
= 1,791,000
< 368,200
403 AXIEHMSAH=01d 2,149,200 2,760,000 610,800
[ 1,791,000
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S FETAID
M TAITHA
Chel: SAITHA EER=E)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
< 358,200
01 AR AH=2E £ 2,149,200 2,760,000 A610,800
felsulaeldl 2,149,200
[ 1,791,000
== 358,200
CAIEESNRA 600,000 0 600,000
403 MRS =201 600,000 0 600,000
01 AtXIEtH A2 £ 600,000 600,000
OIS 0128 F=XE ZEAE 600,000
A Z 2 1,560,000 2,185,000 625,000
e BIE Mo 900,000 1,500,000 600,000
403 AXIEHMSAH=0ld 900,000 1,500,000 2A600,000
01 A= 2L 900,000 1,500,000 600,000
O3=d 2™ Mg 900,000
g1y HdIAte 660,000 660,000 0
308 AHXIHMSO0IA 30,000 30,000 0
01 XN B EES 30,000 30,000
Oogld N (HA) XFA 30,000
403 AXIEHHSAH=01 630,000 630,000
01 XIS A =2 630,000 630,000
oeld cl2gd & 22 A 630,000
SEME SF3EH| 5,794,000 8,274,084 A2,480,084
[ 5,794,000
SEUE SFZEH 5,794,000 8,274,084 A2,480,084
= 5,794,000
=dIOIE ™MelX& 5,794,000 8,274,084 A2,480,084
s 5,794,000
403 AXIEHMSA=Z0l1d 5,794,000 8,274,084 A\2,480,084
[ 5,794,000
01 MXIStH 22 £ 5,794,000 8,274,084 A2,480,084
OsdIOIEXMeIA 5,794,000
= 5,794,000
eSS (FHTAID) 4,195,860 3,791,009 404,851
WRHAHRI S (FHEZAIDL) 1,116,000 700,000 416,000
NSIHEDIIZ Ol=== OlAtatet 1,116,000 700,000 416,000
705 Ol==&¥cl=ate 1,116,000 700,000 416,000
04 Al - SXISNE IS0 =3 0| Ktate 1,116,000 700,000 416,000
Os88 O ¢d= =% 3= 700,000
OFHE TAIESINH RAMY EX3 416,000
SIS (=HEZAIL) 3,079,860 3,091,009 A11,149
gtet=DIE 2,081,460 2,092,609 A11,149
802 Btet= DI Et 2,081,460 2,092,609 A11,149
s
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